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2020届高考英语考前拔高每日练  综合训练（六）
1、I have always enjoyed all the events you organized and I hope to attend _____ in the coming years.
A. little more
B.no more
C. much more
D. many more

2、When the time came to make the final decision for a course, I decided to apply for the one that ______ my interest.
A. limited
B. reserved
C. reflected
D. spoiled

3、Scientists have advanced many theories about why human beings cry tears, none of ______ has been proved.
A. whom
B. which
C. what
D. that
4、A Competitive Sport
Cheerleading
Over these years, cheerleading has taken two primary forms: game-time cheerleading and competitive cheerleading. Game-time cheerleaders’ main goal is to entertain the crowd and lead them with team cheers, which should not be considered a sport. However, competitive cheerleading is more than a form of entertainment. It is really a competitive sport.

Competitive cheerleading includes lots of physical activity. The majority of the teams require a certain level of tumbling (翻腾运动) ability. It’s a very common thing for gymnasts, so it’s easy for them to go into competitive cheerleading. Usually these cheerleaders integrate lots of their gymnastics experience including their jumps, tumbling, and overall energy. They also perform lifts and throws. This is where the “fliers” are thrown in the air, held by “bases” in different positions that require strength and working with other teammates.

Competitive cheerleading is also an activity that is governed by rules under which a winner can be declared. It is awarded points for technique, creativity and sharpness. Usually the more difficult the action is, the better the score is. That’s why cheerleaders are trying to experience great difficulty in their performance.

Besides, there is also a strict rule of time. The whole performance has to be completed in less than three minutes and fifteen seconds, during which the cheerleaders are required to stay within a certain area. Any performance beyond the limit of time is invalid.

Another reason for the fact that competitive cheerleading is one of the hardest sports is that it has more reported injuries. According to some research, competitive cheerleading is the number one cause of serious sports injuries to women. Emergency room visits for it are five times the number than for any other sport, partially because cheerleaders don’t use protective equipment. Smiling cheerleaders are thrown into the air and move down into the arms of the teammates, which may easily cause injuries. Generally, these injuries affect all areas of the body, including wrists, shoulders, ankles, head, and neck.

There can be no doubt that competitive cheerleading is a sport with professional skills. Hopefully, it will appear in the Olympics since cheerleaders are just as athletic and physically fit as those involved in the more accepted sports. It should be noted that it is a team sport and even the smallest mistake made by one teammate can bring the score of the entire team down. So without working together to achieve the goal, first place is out of reach.

1. What is the main purpose of competitive cheerleading?

A. To compare skills of participants.        
B. To make the audience feel amused.

C. To attract more people to watch events.        
D. To cheer up the competitors on the court.

2. The underlined word “integrate” in Paragraph 2 probably means “______”.

A. examine   
B. combine    
C. identify      
D. replace

3. We can learn from the passage that competitive cheerleading ______.

A. lacks necessary guidelines to follow      

B. enjoys greater popularity than other sports

C. requires more designed actions than gymnastics   

D. has a relatively high rate of damage to the body

4. Which of the following shows the structure of the passage?

I: Introduction    P: Point    Sp: Sub-point (次要点)    C: Conclusion
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5、    Languages have been coming and going for thousands of years, but in recent times there has been less coming and a lot more going. When the world was still populated by hunter-gatherers, small, tightly knit(联系) groups developed their own patterns of speech independent of each other. Some language experts believe that 10,000 years ago, when the world had just five to ten million people, they spoke perhaps 12,000 languages between them.

    Soon afterwards, many of those people started settling down to become farmers, and their languages too became more settled and fewer in number. In recent centuries, trade, industrialisation, the development of the nation-state and the spread of universal compulsory education, especially globalisation and better communications in the past few decades, all have caused many languages to disappear, and dominant languages such as English, Spanish and Chinese are increasingly taking over.

    At present, the world has about 6,800 languages. The distribution of these languages is hugely uneven. The general rule is that mild zones have relatively few languages, often spoken by many people, while hot, wet zones have lots, often spoken by small numbers. Europe has only around 200 languages; the Americas about1,000; Africa 2 400; and Asia and the Pacific perhaps 3,200, of which Papua New Guinea alone accounts for well over 800. The median number(中位数) of speakers is a mere 6,000, which means that half the world's languages are spoken by fewer people than that.

    Already well over 400 of the total of, 6,800 languages are close to extinction(消亡), with only a few elderly speakers left. Pick, at random, Busuu in Cameroon (eight remaining speakers), Chiapaneco in Mexico (150), Lipan Apache in the United States (two or three) or Wadjigu in Australia (one, with a question-mark): none of these seems to have much chance of survival.

1. What can we infer about languages in hunter-gatherer times?
A. They developed very fast. 
B. They were large in number.
C. They had similar patterns 
D. They were closely connected.
2. Which of the following best explains “dominant” underlined in paragraph 2?
A. Complex  
B. Advanced.    
C. Powerful   
D. Modern.
3. How many languages are spoken by less than 6,000 people at present?
A. About 6,800 
B. About 3,400
C. About 2,400    
D. About 1,200
4.What is the main idea of the text?
A. New languages will be created.


B. People's lifestyles are reflected in languages.
C. Human development results in fewer languages.

D. Geography determines language evolution.

答案以及解析

1答案及解析：

答案：D
解析：句意:我一直很喜欢你组织的所有的活动并且希望在未来的几年里参加更多的活动。A.没有这个搭配;B.不再;C.多得多(修饰不可数名词);D. many more更多(修饰可数名词)。这里修饰的是上文的activities。故选D。
2答案及解析：

答案：C
解析：句意:当最后决定课程的时候到了,我决定申请能反映我兴趣的课程。A.限制;B.保留;C.反映,反射;D.宠坏。故选C。
3答案及解析：

答案：B
解析：句意:关于人类为什么哭的时候会流泪,科学家已经提出了很多理论,没有一个被证明了。使用定语从句,先行词是theories,指物,定语从句中用代词+介词+关系代词which引导。故选B。

4答案及解析：

答案：1.A; 2.B; 3.D; 4.C

解析：1.细节理解题。根据第一段competitive cheerleading is more than a form of entertainment. It is really a competitive sport.和第二段Competitive cheerleading includes lots of physical activity.和最后一段There can be no doubt that competitive cheerleading is a sport with professional skills.可知竞技啦啦队竞争性的运动,是一项具有专业技能的运动。故选A.
2.猜测词义题。通常这些啦啦队长会将他们的体操经验融入其中,包括跳跃、翻滚和整体能量。“integrate”指整合,结合,融入,与combine同义,故选B.
3.细节理解题。根据第五段Another reason for the fact that competitive cheerleading is one of the hardest sports is that it has more reported injuries.和Generally, these injuries affect all areas of the body, including wrists, shoulders, ankles, head, and neck.及本段的数据说明可知竞技啦啦队很容易造成队员受伤,会造成身体多个部位的伤害。故选D.
4.推理判断题。文章第一段是总体介绍竞技啦啦队,第二段介绍其包括内容和标准,第三、四段介绍其难度很高,第五段介绍竞技啦啦队受伤率很高。最后一段得出结论竞技啦啦队是一项专业技能的运动。属于总分总结构,故选C.
5答案及解析：

答案：1.B; 2.C; 3.B; 4.C

解析：本文是一篇议论文。文章讲述了随着社会的发展人类语言越来越少及其原因。

1. 推理判断题。根据文章第一段中的When the world was still populated by hunter-gatherers, small, tightly knit (联系) groups developed their own patterns of speech independent of each other... when the world had just five to ten million people, they spoke perhaps 12,000 languages between them.可知,当世界以依靠狩猎为生的人居住的时候,小而联系紧密的群落形成了他们彼此之间独立的讲话模式。当世界上的人口数量不到一千万时,语言种类达到了12000种。由此推知,当时的语言种类很多。故选B。

2. 猜测词义题。根据文章第二段中的dominant languages such as English, Spanish and Chinese are increasingly taking over.可知,英语、西班牙语和汉语正在替代其他语言。由此推知dominant languages意为:强有力的语言。故选C。

3. 细节理解题。根据文章第三段中的At present, the world has about 6,800 languages.和The median number (中位数) of speakers is a mere 6,000, which means that half the world’s languages are spoken by fewer people than that. 可知,目前世界上大约有6800种语言,但是讲的人数少于6000人的占一半即3400.故选B。

4. 主旨要义题。根据文章第一段中的主题句Languages have been coming and going for thousands of years, but in recent times there has been less coming and a lot more going.可知,语言的产生和消失进行了几千年,但最近时代语言产生的少,消失的太多。故选C。

点睛:长难句解读

In recent centuries, trade, industrialisation, the development of the nation-state and the spread of universal compulsory education, especially globalisation and better communications in the past few decades, all have caused many languages to disappear, and dominant languages such as English, Spanish and Chinese are increasingly taking over.

分析:and连接两个并列句,前面的介词短语in. . .作时间状语,all和前面的名词短语是同位语。

句意:在最近的几个世纪,贸易、工业化、民族国家的发展和全球义务教育的蔓延,尤其是过去几十年来,全球化和更好的交流,这些都是导致许多语言消失的原因。而且像英语、西班牙语和汉语这些强大的语言正在不断地占据统治地位。
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